

1 durch 1 (schriftlich) - 2 (Lösung)

$1698 : 3 = 566$	$4260 : 5 = 852$	$3983 : 7 = 569$
$\begin{array}{r} \underline{-15} \\ 19 \\ \underline{-18} \\ 18 \\ \underline{-18} \\ 0 \end{array}$	$\begin{array}{r} \underline{-40} \\ 26 \\ \underline{-25} \\ 10 \\ \underline{-10} \\ 0 \end{array}$	$\begin{array}{r} \underline{-35} \\ 48 \\ \underline{-42} \\ 63 \\ \underline{-63} \\ 0 \end{array}$

$2514 : 6 = 419$	$3596 : 4 = 899$	$1424 : 8 = 178$
$\begin{array}{r} \underline{-24} \\ 11 \\ \underline{-6} \\ 54 \\ \underline{-54} \\ 0 \end{array}$	$\begin{array}{r} \underline{-32} \\ 39 \\ \underline{-36} \\ 36 \\ \underline{-36} \\ 0 \end{array}$	$\begin{array}{r} \underline{-8} \\ 62 \\ \underline{-56} \\ 64 \\ \underline{-64} \\ 0 \end{array}$

$1302 : 2 = 651$	$3186 : 9 = 354$	$3192 : 7 = 456$
$\begin{array}{r} \underline{-12} \\ 10 \\ \underline{-10} \\ 02 \\ \underline{-2} \\ 0 \end{array}$	$\begin{array}{r} \underline{-27} \\ 48 \\ \underline{-45} \\ 36 \\ \underline{-36} \\ 0 \end{array}$	$\begin{array}{r} \underline{-28} \\ 39 \\ \underline{-35} \\ 42 \\ \underline{-42} \\ 0 \end{array}$

$1468 : 4 = 367$	$4336 : 8 = 542$	$4884 : 6 = 814$
$\begin{array}{r} \underline{-12} \\ 26 \\ \underline{-24} \\ 28 \\ \underline{-28} \\ 0 \end{array}$	$\begin{array}{r} \underline{-40} \\ 33 \\ \underline{-32} \\ 16 \\ \underline{-16} \\ 0 \end{array}$	$\begin{array}{r} \underline{-48} \\ 08 \\ \underline{-6} \\ 24 \\ \underline{-24} \\ 0 \end{array}$